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QUESTION 1

The service group named websg is currently online on the sys3 node. All other nodes are running.
Consider the following partial main.cf file:

Groug websg (

systemList = { sysl=0, sys2=1, sys3=2 }
AutoStartList = {sys2, sys3 }

FailCverPolicy = Priority

Frozen = 0

)

What happens to the websg service group if the administrator inadvertently shuts down a critical resource outside of the
cluster?

A. nothing; the FailOverPolicy is Priority
B. it will switch to the sysl1 node

C. it will switch to the sys2 node

D. nothing; the service group is frozen

Correct Answer: C

QUESTION 2

Which two actions must an administrator take to upgrade an application under cluster control? (Select two.)
A. verify the application agent supports the new version

B. switch the application service group to another node

C. freeze the application service group

D. freeze the application resources

E. stop the application agent on all systems

Correct Answer: AC

QUESTION 3
An administrator needs to create a new two-node cluster.

Which configuration allows the administrator to firm a cluster using Veritas InfoScale Availability?
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A. different operating system vendors for the two servers that share the same big-endian or little-endian format
B. one server running Solaris x86 and the other server running Solaris SPARC

C. one server running Linux RHEL 6 and the other server running Oracle Linux 6

D. one server configured as a virtual machine and the other server configured as a physical machine

Correct Answer: C

QUESTION 4

Which log can an administrator review to determine why a resource failed to come online?
A. /etc/VRTSvcs/conf/config/main_A.log

B. lvar/VRTSvcs/log/messages_A.log

C. lvar/VRTSvcs/log/resources_A.log

D. /lvar/VRTSvcs/log/engine_A.log

Correct Answer: D

Reference: https://www.veritas.com/support/en_US/article.100010472

QUESTION 5

An administrator wants to install InfoScale Availability.

Which hardware requirement ensures successful installation of Veritas Cluster Server?
A. at least one SCSI or Fibre Channel Host Bus Adapter per system

B. at least one dedicated Ethernet interface per system for private interconnects

C. all shared storage disks support SCSI-3 Persistent Reservations

D. gigabit Ethernet using enterprise-class switches for private interconnects

Correct Answer: AD
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